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�BCD=�, �BOC=����%� �OBA=�OAB=2��
*	�(! 

�AOE=�OAB+�BCD=2�+�=3�BOD 
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c C, EOD#6,gF�� �( BC#v��@#GR!j�� * 
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�BOB’��BB’L��BLF’')��OBB’=�B’BL=�LBF’�
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BE=x ��*���ABE��ECD')�1:x=(x-2a):b,S*	�����, 

x(x-2a)=b')�x$ x2-2ax-b=0,b��	 
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f: er5r#t#^�(�OR=x, OS=y, OT=z�����1:a=a:x, x:a=y:x, y:x=y:z  

������x=a2, y=a3, z=a4,S*	 
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OX=x, OY=y ������XOY��YOQ��JOX')�1:x=x:y=y:n,S*	������ 

y=x2, x:x2=x2:n ')� x4=xn � )�x3=n,S*	 
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cos3�=4cos3�-3cos� 
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|>r#?Q��3�,8
��,_&*�&!$�cos 3�=a, cos�=x, ��� 3]Zh

Q� 4x3-3x-a=0� ,s���( �=cos-1x ,s�%'�	 
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